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01 JHAHY 2 Z 5 S H 564,500 237,566 326,934
ogtig sJIH 7 564,500
O3l (THA) 55,000,000& * 4CH 220,000




AN sEIIsdE X200

FM: sHXAI=
S sIHB AL (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OSSO0l (A, CI&)
28,000,000& =« 4CH 112,000
O=Fdx=48I(tHA) 4,500,000& = 5CH 22,500
OsE=4I 38,000,000& * 3CH 114,000
OXt=4] E/H| A D] 20,000,000& * 3CH 60,000
OEHIAEI(EAEHE) 12,000,0008 » 3CH 36,000
SIH &3l=2l 145,000 145,000 0
206 = Hl 145,000 135,000 10,000
01 MHZ 4l 145,000 135,000 10,000
OsJIH =328 2357 135,000
ORZ2(E2II222 6008)
50,000& = 2,400& 120,000
OR=2(2gA e 2008)
10,000& * 1,500& 15,000
OsJIA =22l 2EUHE 7L
20,000& = 500& 10,000
SZEXE AT S 699,528 386,340 313,188
= 174,764
Xl 175,000
Al 349,764
=2 AJls MY (XE) 50,000 0 50,000
= 25,000
Al 25,000
307 gl2tol & 15,000 0 15,000
= 7,500
Al 7,500
02 PIZHE M AHE L 15,000 0 15,000
OBJtsA2E 2 AY
15,000,000& * 1JH 2 15,000
= 7,500
Al 7,500
402 2I2H X201 M 35,000 0 35,000
= 17,500
Al 17,500
02 QI 2 AL EZ(OI X TH ) 35,000 0 35,000
OBNHSARZY 28 AY
35,000,000& * 1JH2A 35,000
= 17,500
Al 17,500
sl M2us XA (2Y) 45,000 102,740 A57,740
= 22,500
Al 22,500
101 @124 4] 8,947 0 8,947
2 4,474
Al 4,473




N s8II=
FM: sHXAI=
el SEXES A (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 JIZHHZ2XREES 8,947 0 8,947
0JZYEIenS 29 A2y
51,8003 = 1& = 26 » 6IHE 8,081
- 4,041
Al 4,040
OJIZtH 22X B (ALNRLS) 866
OFaRz gk = 1= 8,081,000& * 3.06% 248
- 124
Al 124
OFIILEE= 248,000& * 6.55% 17
= 9
Al 8
O30z 8,081,000& = 4.5% 364
- 182
Al 182
O1nEEE 8,081,000& = 1.5% 122
= 61
Al 61
OtHES 8,081,000& * 1.42% 115
= 57
Al 58
201 Yet2 | 26,953 39,750 A 12,797
= 13,476
Al 13,477
01 At 22l 26,953 39,750 A12,797
OJIzgsllznsg 2A=E(12) 10,850
oJle 230,0008 * 1AI2+ * 319 7,130
= 3.565
Al 3,565
Ot 120,000 » 1AI2+ » 31H 3,720
= 1,860
Al 1,860
OJI=gsllsns UM+
10,0002 * 8502 8,500
= 4,250
Al 4,250
OJIx=gsllsns 8% MHE
70,000& * 200H 1,400
= 700
Al 700
OJIx=gsIIsnE MREE 72 353,000& 353
= 176
Al 177
OFE=sLI=znsg 2A=E(22) 1,920
oJl& 120,000& » 1AI2+ = 69H 720
= 360
Al 360
Ot 100,000& = 2AI2F = 6 1,200




2AM: sg€ll=
=R ESD EIE
Sel sETESAYHN EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 500
Al 600
ONE2=gII=Ws WMHMZA 8,008 » 4508 3,600
= 1,800
Al 1,800
OFSsIEDE HAHE
70,000& = 20K 140
= 70
Al 70
OME=sYI=wWE AIRESE 22 190,000 190
- 95
Al 95
301 LEtE A= 9,100 12,950 A 3,850
= 4,550
Al 4,550
09 HALAHI E& S 9,100 12,950 A 3,850
OJI=Zslzsls 2424 7,0008 * 850 5,950
= 2,975
Al 2,975
OME=sllzws =AZ4L 7,0008 * 4502 3,150
- 1,575
Al 1,575
sg oEy oM Ad AYE(KH) 50,000 50,000 0
= 25,000
Al 25,000
402 QI2H X201 M 50,000 50,000 0
= 25,000
Al 25,000
02 QI E2AIS EZ (OIS ) 50,000 0 50,000
OX2Y AEY oD AW AY
50,000,000& * 1JH A 50,000
= 25,000
Al 25,000
SXQ BAMH HOIFH X (NE) 50,000 150,000 100,000
Xl 25,000
Al 25,000
402 RI2EX20| ™ 50,000 130,000 280,000
Xl 25,000
Al 25,000
02 A2t X2 AL E X (01X THEA) 50,000 0 50,000
OsEY BAMS BHOIFY N
50,000,000& * 1JH A 50,000
Xl 25,000
Al 25,000
HE NS5 HSES (M) 50,000 50,000 0
Xl 25,000
Al 25,000




2N 5YIls
HM: =HXSIE
oHelr SEXEAYR CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
201 Bt 43,200 0 43,200
Xl 21,600
Al 21,600
01 AP 22| H| 43,200 0 43,200
OXSASHANSES XY DM K=
10,0008 » 100™ 1,000
Xl 500
Al 500
ONEARIHSES NE 2AxE 2,200
[OPIE==] 120,000 * 10¥ 1,200
Xl 600
Al 600
O=J} 100,000 = 10¥ 1,000
Xl 500
Al 500
OFSASINSESE X2 A DY
40,000,000& * 14l 40,000
N 20,000
Al 20,000
206 M = dl 5,400 0 5,400
N 2,700
Al 2,700
01 X2 bl 5,400 0 5,400
ONMSARSHSES NE UE M=
540,000 = 108l 5,400
N 2,700
Al 2,700
301 et A= 1,400 0 1,400
N 700
Al 700
09 HAIAHI BEAZ 1,400 0 1,400
ONSAZIHSES AN 34 B4
7,000 * 200H 1,400
N 700
Al 700
S0 HEIS NV (ZH) 14,000 33,600 ~19,600
=2 7,000
Al 7,000
201 YEr2 Y| 6,440 1,440 5,000
2 3,220
Al 3,220
01 AP 2t 2] d| 6,440 1,440 5,000
OWAMZESE =sHIH WE ZA2(23) 220
[OPIE= 120,000& * 1AI2F = 1&H 120
= 60
Al 60
OFJt 100,000& * 1Al » 1&H 100




AN sIIsdH XA
B SN
Sl SERS A CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
= 50
Al 50
OAMSE =20 DT AX2
600,000& = 13l 600
= 300
Al 300
ONWEEsE sIH s =34
75,5003 = 40 3,020
= 1,510
Al 1,510
OsgJIIH A= +=ZHl 13,0008 * 200& 2,600
= 1,300
Al 1,300
206 M= Hl 5,600 13,220 AT,620
= 2,800
Al 2,800
01 M= dl 5,600 13,220 AT,620
OIS =IH s M=l
40,000& = 409 1,600
= 800
Al 800
O=gIIH ¥ s MH=H 20,0008 * 200 4,000
= 2,000
Al 2,000
301 LptE a3 1,960 2,940 980
= 980
Al 980
09 HALMHI BN = 1,960 2,940 A 980
ONWEEsd sIAH ns 44l
7,000& * 40¥ « 23l 560
= 280
Al 280
OsYIIAH S4dwE ZAH  7,0008 * 200 1,400
= 700
Al 700
HEseo MY (M) 50,000 0 50,000
= 25,000
Al 25,000
402 212t X201 & 50,000 0 50,000
= 25,000
Al 25,000
02 RIZt Xt 2 AL EZ (OIS ) 50,000 0 50,000
OB S0l AW H I AL
50,000,000 = 10024 50,000
= 25,000
Al 25,000
=90l SSCH DESE N (NH) 2,400 0 2,400
= 1,200




2N S0l
FM: sHXAI=
oHelr SEXEAYR (el @2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Al 1,200
307 21201 A 2,400 0 2,400
= 1,200
Al 1,200
02 ItFHANGEEE 2,400 0 2,400
OSENEX YHDE 1,200,008 * 204 2,400
= 1,200
Al 1,200
SsEMEMNY HF Il 25 N (2Y) 7,400 0 7,400
- 3,700
Al 3,700
201 €24 1,400 0 1,400
= 700
Al 700
01 AFR2t2l | 1,400 0 1,400
OsZatetgdsa s 24 700,000& = 23| 1,400
= 700
Al 700
202 044l 6,000 0 6,000
= 3,000
Al 3,000
01 SLHOYI 6,000 0 6,000
OsEEANLEHGXA 500,000& * 12& 6,000
= 3,000
Al 3,000
NETPY HSSAFAXA(NE) 60,728 0 60,728
=2 30,364
Al 30,364
201 L Er2 A | 16,300 0 16,300
= 8,150
Al 8,150
01 AF2 22l bl 16,300 0 16,300
OJ==2S4d] A US| 3,200
O%l&E 1,200,000& = 1 1,200
= 600
Al 600
OSIEl 2,000,000& * 1& 2,000
= 1,000
Al 1,000
OJl=E2S4* =&l 1,000,000& = 23 2,000
= 1,000
Al 1,000
O=gEZ Moz =&l 1,500,000 « 1 1,500
= 750
Al 750




SN SIS
M =HXA0=
Sel sETESAYHN EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
PEENEECE S IR
800,000& = 13l 800
- 400
Al 400
owsteleld +80 % AHDSY
800,000& = 13l 800
= 400
Al 400
OXAI A NS 8,000,000& * 14 8,000
= 4,000
Al 4,000
202 oddl 44,428 0 44,428
= 22,214
Al 22,214
01 = LH o4 1l 39,428 0 39,428
OJI=E2=42 ol 600,000& * 2% 1,200
= 600
Al 600
O=Y=HMaoizZ odbl(10He)
16,500,000& * 1H 16,500
= 8,250
Al 8,250
OZGAIAE Kbl 400,000& = 1H 400
= 200
Al 200
Odst2eleld ol 400,000& = 1¥H 400
= 200
Al 200
OXNESRA dEsdilLaEes N ol
436,000& = 48%Y 20,928
= 10,464
Al 10,464
03 2220l 5,000 0 5,000
OXNESRE flAAX(HEAS)
5,000,000& » 1H 5,000
= 2,500
Al 2,500
SE 024 SXNAMA(NL) 50,000 0 50,000
Xl 25,000
Al 25,000
307 2Iztol ™ 10,000 0 10,000
Xl 5,000
Al 5,000
02 It M AHE L 10,000 0 10,000
O=sZE0Z24 SXME AEAY
10,000,000& * 1JH 2 10,000
Xl 5,000
Al 5,000




2N sgIl=
BH: SNl
Ee: SEXNEAIL A (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
402 SI2FXHE0| M 40,000 0 40,000
Xl 20,000
Al 20,000
02 CIZEXIE A EX (0| XM THL) 40,000 0 40,000
OSZ0l2a SXME AHAY
40,000,0002 * 1JH A 40,000
Xl 20,000
Al 20,000
nEeg sHIAH N (HE) 70,000 0 70,000
= 35,000
Al 35,000
405 XHA&HF S HI 70,000 0 70,000
= 35,000
Al 35,000
01 XA 2 ZF S H| 70,000 0 70,000
onNEs2=YIIHXNA 70,000
O ASH U] 10,000,000& = 1CH 10,000
= 5,000
Al 5,000
Osat=2d48D]| 20,000,000 ~ 1CH 20,000
= 10,000
Al 10,000
Osdzc2(8HAH) 40,000,000& * 1CH 40,000
= 20,000
Al 20,000
GAP &2 &2AE I3 (XH) 200,000 0 200,000
Xl 100,000
Al 100,000
307 212t0| ™ 30,000 0 30,000
Xl 15,000
Al 15,000
02 DIZHEAAIE E X 30,000 0 30,000
OGP B8 TZAE X a
30,000,000& * 1= 30,000
Xl 15,000
Al 15,000
402 SI2FXHE0| & 170,000 0 170,000
Xl 85,000
Al 85,000
02 QIZEXIE A E X (0| XM THH) 170,000 0 170,000
OGP B8 TZAE X a
170,000,000 = 1JH A 170,000
Xl 85,000
Al 85,000
SEBIE R 339,570 317,390 22,180
=} 101,871
Al 237,699




AN sEIIsdE X200

B SN
CHRl: S| =X K EA (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
SEXNZAIYE SSHFX & 224,190 211,310 12,880
= 67,257
Al 156,933
201 Bt 89,940 92,760 N2,820
& 26,982
Al 62,958
01 At 22l bl 89,940 92,760 N2,820
OdIls sHEEX X 120,000 * 93 A 11,160
& 3,348
Al 7,812
OSUVCHH SAF2A XA (SAY0ME)
40,000 = 1,200&H 48,000
& 14,400
Al 33,600
O=AUTH SAH2N X (4-HA2)
20,000& * 315" 6,300
& 1,890
Al 4,410
O sHEEX XN (S0HLAR)
84,000& * 170™H 14,280
= 4,284
Al 9,996
oM 48RS DI 7
5,000& * 1,5008 7,500
o= 2,250
Al 5,250
OMHSAL ASDS NSEBE 2
140,000& = 14! 140
== 42
Al 98
OMlsZol A2NE LAILE(YE2Z) 2,560
oJl=s 120,000& * 1AI2F » 1& * 83 960
& 288
Al 672
OFJt 100,000 * 2Al2F = 1 = 83 1,600
< 480
Al 1,120
301 LBt A= 14,650 15,200 A B50
& 4,395
Al 10,255
09 HAIAHIBAZ 14,650 9,800 4,850
OMIll=sgol A8 g SAB4A
7,000& * 1,400™ 9,800
= 2,940
Al 6,860
OsdosEHYEs & Sl sA LIS
PTG 4,850,000& 4,850
= 1,455
Al 3,395




AN sEIIsdE X200

M =HXA0=
Sl SIS XA (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 3,150 3,150 0
< 945
Al 2,205
02 PIZHEHAHE L 3,150 3,150 0
O=UUSSTUBE U Tl S4LUSD|
3,150,000& * 1JH 2 3,150
< 945
Al 2,205
308 XXX S0 A 56,250 0 56,250
< 16,875
Al 39,375
1037/ 2SoHUHe A HALS I 56,250 0 56,250
ONSsY0l HIZANUE 2
56,250,000& 56,250
< 16,875
Al 39,375
402 QI2H X201 M 60,200 60,200 0
< 18,060
Al 42,140
02 QI E2AIE EZ (OIS ) 60,200 0 60,200
OMA SO HBY SHES ASMA X
22,000,000 = 14 = 70/100 15,400
< 4,620
Al 10,780
O 4-H3l™ BB IS ML
0,000,000& = 1JHA * 70/100 7,000
< 2,100
Al 4,900
OSEHES RIS KA
50,000,000& = 1JHA * 70/100 35,000
< 10,500
Al 24,500
ONAEMES M5 MIIT 23
2,000,000& = 2JHA * 70/100 2,800
< 840
Al 1,960
SEME G MII=E23 76,380 76,080 300
< 22,914
Al 53,466
201 £B-2dH| 39,340 49,780 210,440
< 11,802
Al 27,538
01 At 22/l 39,340 49,780 A 10,440
O=s&E04d 32HE =2 N&
40,0003 = 927H 37,080
S 11,124
Al 25,956




AN sEIIsdE X200

B SN
Sl SIS XA (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Os&li=s0d 4E8s Nd JALS (DD
2=) 1,560
OPIE= 120,000& * 1A[2F = 8H 960
< 288
Al 672
O=Jt 100,000& * 1Al2F = 6H 600
< 180
Al 420
OSEN2S08 MEXS MY DS #49
X & 50,000 * 204 100
< 30
Al 70
OSE02s0l8 MBNS MY DS Y o
= 300,000& *2 600
< 180
Al 420
206 M=l 6,480 11,000 24,520
< 1,944
Al 4,536
01 =8l 6,480 11,000 AN 4,520
OsSEUI3NE M3 XIE us MSH
90,0008 * 12Z * 63 6.480
[ 1,944
Al 4,536
301 gt L= 1,260 15,300 214,040
< 378
Al 882
09 HALAHIEA S 1,260 6,300 A5,040
OsSZEUI30E M3 XE us =44
7,000& * 309 = 63 1,260
= 378
Al 882
402 BI2HX=0l M 29,300 0 29,300
< 8,790
Al 20,510
02 QI EAILSEZ (01X E) 29,300 0 29,300
OsEWLHH dlles =&Y ZH N2
8,300,000&  1JH A 8,300
< 2,490
Al 5,810
OsE AMEMES2 JIzE=2
30,000,000& = 1JH4 = 70/100 21,000
= 6,300
Al 14,700
MII=2 = At &t 39,000 30,000 9,000
< 11,700
Al 27,300
201 Yet2 | 10,000 0 10,000




EXN: sgIIsHe XKD
HM: =HXSIE
S ENSPIFS EEY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 3,000
Al 7,000
01 AP 22| d| 10,000 0 10,000
OsJIH =3l£e g EE22 HZ
20,0008 = 5008 10,000
& 3,000
Al 7,000
206 M = dl 20,000 30,000 A 10,000
< 6,000
Al 14,000
01 X2 H| 20,000 30,000 A 10,000
O=sJIH =232 s N&E M2
200,000& = 100= 20,000
& 6,000
Al 14,000
301 LBt A= 9,000 0 9,000
= 2,700
Al 6,300
06 212t01 = 2| (4 HI 9,000 0 9,000
O=goH oHelH= 1,800,000& = 5H 9,000
& 2,700
Al 6,300
HAE2H A 1,243,926 1,152,500 91,426
oA 2 A AH| 1,243,926 1,152,500 91,426
ol 2oyl 1,166,742 1,076,070 90,672
101 @121 | 1,166,742 1,076,070 90,672
01 E% 259,366 241,546 17,820
OAZte 22+
10,073& » 632 * 30Al2F = 128 228,456
OSAUNAMXN L2242 (6H)
5,860% * 6Y * 60Y 30,910
02 JIEtE 2 % 3,198 2,875 323
OAZIAZ22 LS (M EF)
8,883& * 1¥H = 30Al2t ~ 128 3,198
03 RIAHLZ2ZZ2XE S 904,178 831,649 72,529
OZ2F Aol AHH| 816,925
od= 427 224
-Jig2 138 Xt 25,669,080& * 13H 333,699
-LIZ2 138 Xt 24,143,520 * 2H 48,288
-Ct32 139 Xt 22,618,080 * 2H 45,237
(OE= 237,277
-IE4g 12,480
- B S X+ 40,000 ~ 10¥  12& 4,800
JIEFIIS 20,000 * 329 * 12& 7,680




AN sIIsdH XA
Bu: #F2ARY
el ol E Ayl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SFSEERSSISIEY
17,100& = 30AI2t = 13H » 123 80,028
-AEZEag(L3)
16,1803 = 30AI2t = 28 » 123 11,650
-AEZEg(U3)
15,300& = 30AI2t = 28 « 123 11,016
~RY2R22(012)
136,800% * 138 + 252 44,460
~gYIRAY (L)
129,4403 * 2H = 25¢ 6,472
-Fe2eg(02)
122,400& * 2H » 25 6,120
—HR=E(OI=2) 91,2008 * 139 » 202 23,712
“Hx=2(U3) 86,3203 * 2H » 20 3,453
“A X2 (03) 81,600& = 2% = 20 3,264
-Hd==g 50,000& = 178 = 123 10,200
A ERE == 382,500& * 420 = 29YH 3,060
2%52(Jt=) 106,950 * 13 + 12& 16,685
2522(U3) 100,590& = 2H » 123 2,415
2&522(03) 94,240 * 2% x 12& 2,262
OFEFItHI 46,284
-2 1,390,400 = 13% = 23| 36,151
L= 1,307,770& = 2% * 23] 5,232
-t= 1,225,140  2H * 23| 4,901
O= &l 150,000& » 17 » 1228 30,600
On &t 150,000& = 17 = 12& 30,600
OIJLAX &bl 34,740
-Jt=2 175,000& = 13¥ » 12& 27,300
-L= 160,000& » 29  12& 3,840
-t= 150,000& = 2H » 12& 3,600
O8Nz 600,000 = 17H 10,200
OMNXHNEES 87,253
OHLEE= 816,925,000& * 3.06% 24,998
OFIIRAEEE 24,998,000& * 6.55% 1,638
O=2d3 816,925,000& * 4.5% 36,762
OCnE:LH 816,925,000& * 1.5% 12,254
OMTHEH 816,925,000& * 1.42% 11,601
JlE2&l 77,184 76,430 754
201 YEr2 | 35,604 34,570 1,034
01 At 2t 2l 35,604 34,570 1,034
oJll2ge=8 g2 (II&Z4l)
10,500, 000& 10,500
O=ZHI(J1E&HI) 10,584,000& 10,584




2N
X ZH -
L= B

el

@IS ME KRS
=ERET
CEEET

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O Al 60,000& = 119¢ 7,140
O=AHdl (&) 30,0003 246 7,380
202 O4dl 33,240 33,480 A 240
01 = LHA YI 14,040 11,880 2,160
OJIEZ 90,000& = 13% = 12& 14,040
02 N 19,200 21,600 A 2,400
OXZJII&1 FHNHI
200,000& = 6% = 12& 14,400
Osgolags 22AJ XN
200,000 = 2% = 12& 4,800
203 R =& 8,340 8,380 AN40
01 JI122E YR =4H 3,300 3,300 0
OJIEH(42) 3,300,000 3,300
02 33t PR =L 840 880 A 40
OFAINLH S =AY 40,0003 * 21H 840
04 FN2ELRZ=TH| 4,200 4,200 0
O M2 (302 0]5t) 350,000& = 12& 4,200




N = 0 & AF S 99 N A
A sgIIsdH Jl=220
=R RSP
e MII=23AIg X (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Ssgl|l=s=HdH Jl=E22 4,525,926 3,197,184 1,328,742
= 643,230
Xl 443,000
& 173,760
Al 3,265,936
seIl=Es 4,471,005 3,131,221 1,339,784
2 643,230
Xl 443,000
& 173,760
Al 3,211,015
MIIE2SAL X2 2,168,340 1,554,820 613,520
= 643,230
% 443,000
Al 1,082,110
SHAISAHII=AME  XH) 1,110,000 1,020,000 90,000
= 555,000
Al 555,000
402 DI2HX 20| A 1,110,000 1,010,000 100,000
= 555,000
Al 555,000
02 QX2 A E X (0| XM THS) 1,110,000 0 1,110,000
MRS 2BMMTT AlY
100,000,000& * 1JH A 100,000
= 50,000
Al 50,000
O¥F SHES AHHMA JsE22 AlEY
50,000,000& * 1JH A 50,000
= 25,000
Al 25,000
OAH &g st D370 AEHX =24
100,000,000& * 1JH A 100,000
= 50,000
Al 50,000
oMMl =0 Muols EEAS AlY
20,000,000& * 1JH A 20,000
= 10,000
Al 10,000
OLNEL &2 58 5 H2AAE B3 AlY
40,000,000& * 10 A 40,000
= 20,000
Al 20,000
OLEUZE £ ARE 4K oA SeotHEY Hdet
Al 150,000,000 = 1JH A 150,000
= 75,000
Al 75,000
ONE&I| St HA MU= HH MA AlE
20,000,000& * 1JH A 20,000
= 10,000
Al 10,000




N = 0l & At & Ml A

SA: SIS D22

T . A
M sgllsE=

el DI RS A (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OSAUZ0E N0 SEAN Y
50,000,000& * 1JH 2 50,000
= 25,000
Al 25,000
OMNI ZUSH B 23 AlH
200,000,000& * 1JH 2 200,000
= 100,000
Al 100,000
033l 2USH NES =7 A
60,000,000& * 1JH 2 60,000
= 30,000
Al 30,000
OB2E NAXZE Mo 2IIIX & JIEA
& 200,000,000& * 1 200,000
= 100,000
Al 100,000
OHIEE HASII| B8 )5 MAL g
A" 90,000,000 * 1JH 90,000
= 45,000
Al 45,000
OLEleltA FATHE &8 Jl=AdY
30,000,000& * 10H 2 30,000
= 15,000
Al 15,000
ZEEds 2F N3 (Z4A, X&) 10,000 10,000 0
= 5,000
Al 5,000
101 @144 Hl 10,000 10,000 0
= 5,000
Al 5,000
04 JIZHHZ2XREE S 10,000 10,000 0
oXBASMBRL 29 JVHIZK 0P
A2 E s 10,000,000& * 1H 10,000
= 5,000
Al 5,000
BEYSAISAEARLSNA (NH) 20,000 0 20,000
= 10,000
Al 10,000
206 M=l 20,000 0 20,000
= 10,000
Al 10,000
01 =8l 20,000 0 20,000
OtDI=aEANEHTESAA
4,000,000& * 58 20,000
= 10,000
Al 10,000
sASYMSE A 2 X2 (HF) 18,000 35,100 A 17,100
= 9,000
Al 9,000




2H: =g
3 sgl

S M=

SHlE JlsE3d

A
EE\::

SSAEXE

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
101 14 Hl 14,640 13,500 1,140
2 7,320
Al 7,320
04 JIZHHZ22XREES 14,640 13,500 1,140
OHHE L Acta 2% ALA(4HEE,
YHEFOHH ZE) 14,640,000& * 1H 14,640
2 7,320
Al 7,320
201 L2l 1,650 1,400 250
2 825
Al 825
01 At 2t 2/l 1,650 1,400 250
OHHE HEXTQH o=
90,000& = 11H 990
2 495
Al 495
OHHE NENUH Heisl
60,000& » 11H 660
2 330
Al 330
206 M= Hl 660 1,000 A 340
= 330
Al 330
01 =8l 660 1,000 A 340
OHHE HHT A 29 W2
20,000& = 338 660
2 330
Al 330
405 XHobF S HI 1,050 0 1,050
2 505
Al 525
01 XY 2 ZF S| 1,050 0 1,050
OXX ME I 1,050,000& * 1CH 1,050
= 525
Al 525
sA2Ydls 22Z 2 N (HF) 6,600 0 6,600
= 3,300
Al 3,300
201 LBt 1,100 0 1,100
= 550
Al 550
01 At 22l 1,100 0 1,100
oYdls 22X 2% HE ME
50,000& * 223 1,100
= 550
Al 550
301 L2 A F 5,500 0 5,500
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T . A
M sgllsE=

S MII=ESMEX (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,750
Al 2,750
MIIEEd= 5,500 0 5,500
OHE REE 2 AU 243
250,000& = 229 5,500
= 2,750
Al 2,750
sHsddis MU NE(XH) 35,620 0 35,620
= 17,810
Al 17,810
307 glz2+ol & 35,620 0 35,620
= 17,810
Al 17,810
02 It M AMHEE 35,620 0 35,620
O=zE Yoz ZH 35,620,000 * 1002 35,620
= 17,810
Al 17,810
2hs 4 NA(XY) 38,000 73,000 235,000
= 19,000
Al 19,000
101 @124l 3,800 5,000 A1,200
= 1,900
Al 1,900
04 D12t Z22HEE = 3,800 5,000 A 1,200
OZAsSEANY JIAH2ZNSL2Y (4UE
EILE) 3,800,000& * 19 3,800
= 1,900
Al 1,900
201 Yer2 Y| 25,840 48,685 ~22,845
= 12,920
Al 12,920
01 At 22l 14,840 36,685 A 21,845
OZL=sSHENE ZASS(LE23 44124
420,000 = 1& = 113 4,620
= 2,310
Al 2,310
OZir=s4dX2 M 2 2 HME
19,600& * 50 * 23| 1,960
= 980
Al 980
OLZArs=S4HXE N=E2Y  226,0008 ~ 105 2,260
= 1,130
Al 1,130
OZAss4dIE 8FSEs NI
500,000& =« 123l 6,000
= 3,000
Al 3,000
03 A2 Z I 11,000 12,000 21,000




SA: SIS D22

3 sgl

S M=

A
EE\::

SSAEXE

- - _ =]
SN EH . (3H) - HEAY - B %Eﬁ HDS2
O AsSHEXL AR
11,000,000& * 13 11,000
= 5,500
Al 5,500
301 dEtEAZ 3,360 8,715 N5,355
= 1,680
Al 1,680
09 HALAHIBEA = 3,360 8,715 AN5,355
OLLESHNA SHBH
7,000& * 409 x 123 3,360
2 1,680
Al 1,680
307 212t01 & 5,000 10,000 A5,000
= 2,500
Al 2,500
02 DIZtZAAMEE X 5,000 10,000 A5,000
OZdar=sSHXAS 5,000,000& * 1JH A 5,000
= 2,500
Al 2,500
dAs Al L HWIIXE(XH) 10,000 0 10,000
= 5,000
Al 5,000
201 LEt2AY| 7,120 0 7,120
2 3,560
Al 3,560
01 AL 22l 1,500 0 1,500
OYLs Amel L ASTI AAT R
20,000& * 508 1,000
= 500
Al 500
OZdA=s At 2tel & AISEIF MHHLZ
500,000& * 1CH 500
= 250
Al 250
03 S AIS H H 5,620 0 5,620
OZdAs At 2el & AYEEI 29
5,620,000& * 13 5,620
= 2,810
Al 2,810
202 04| 2,000 0 2,000
= 1,000
Al 1,000
01 2LHHI 2,000 0 2,000
OZdA=s At 2tel & AFEEIF ol
20,000& * 5Y * 20 2,000
= 1,000
Al 1,000
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T . A
M sgllsE=

EHel: MIIsEsSMSXA (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
301 gt L= 280 0 280
= 140
Al 140
09 HALAHIEA S 280 0 280
OZAs A2l & AIEEI SAEY
7,000& * 4098 = 13 280
= 140
Al 140
05 a2 sS 600 0 600
= 300
Al 300
01 HH& =SS 600 0 600
OLars Atg2el @ AMGEI B8N ST 2
& 300,000& * 28 600
= 300
Al 300
AOIBI S0l e-HIZLIA ASHEXNA (SEN, 15,000 0 15,000
2l)
= 7,500
Al 7,500
201 2yt 2 Y| 12,760 0 12,760
= 6.380
Al 6,380
01 At 221l 12,760 0 12,760
@/\}OII:H'_O*Ole HELA ASETEXE ZA
S(LE23,4A12F)  420,000@ * 1 * 223| 9,240
= 4,620
Al 4,620
OAMOIHH s le-HIALIA WP X HME
30,0002 *» 502 1,500
= 750
Al 750
O ALOIH Qle-HIZLIA ASEEXNE U2
& 102,000& = 103 1,020
= 510
Al 510
O AOIH le-HIZLIA ASEEXNE IS
= 500,000& =« 2CH 1,000
= 500
Al 500
301 AP B A 2,240 0 2,240
= 1,120
Al 1,120
09 HALAHIEA S 2,240 0 2,240
OAMOIHsZe-HIZLIA SAE A
7,000& * 40 * 83| 2,240
= 1,120
Al 1,120
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sglls2=2

MIOl=ES At X &

SA BB O () - MM - HES il 2
SMNEASTAZE(XH) 6,120 6,720 A 600
= 6,120
202 04 HI 2,040 2,240 A 200
= 2,040
01 = LHA YI 2,040 2,240 A 200
OsdMBAS T A O] 2,040,000& 2,040
= 2,040
301 L2 LS 4,080 4,480 A 400
= 4,080
11IIEtEA S 4,080 0 4,080
OsiEASIAMNEL B4z
0,000& = 23] » 41H 3,280
= 3,280
OsdESASIZANEA JIEZA BE&=3
40,000 * 43| * 59 800
= 800
sHFdGgA AL XN (KAIE X&) 3,000 0 3,000
= 1,500
Al 1,500
201 LBt2E| 2,685 0 2,685
- 1,342
Al 1,343
01 At 2t 2|l 2,685 0 2,685
Oositdgds & M U=
500,0002! * 1C4 500
- 250
Al 250
OSHFYHS L HY DHPY L NEHE
21,8502 » 1008 2,185
= 1,092
Al 1,093
301 LEtE A= 315 0 315
= 158
Al 157
09 HALAHIE& S 315 0 315
OSNBLTSG L HY SABY
7,000& * 459 * 13 315
= 158
Al 157
NEES=sHI=HBS AHAXNA(XE) 10,000 10,000 0
= 4,000
Al 6,000
101 124 dl 10,000 10,000 0
= 4,000
Al 6,000
04 JIZHHZ2XREES 10,000 10,000 0
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ol MIIEEBATR (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
FREEEEEFEEEEREREIGEEES
) 10,000,000& * 1H 10,000
- 4,000
Al 6,000
ANAEeHs &2t 28(JIs22 X&) 530,000 130,000
Xl 265,000
Al 265,000
402 2I2H X201 M 530,000 130,000
Xl 265,000
Al 265,000
02 2IZEH 2 A EZ (OIS ) 530,000 530,000
oXNgexgs&3I|etxy 530,000
OFdl =dlZ 3MEEHR =4
280,000,000& * 102 280,000
Xl 140,000
Al 140,000
O &d ENtE s&=6 Jlgt 2=
250,000,000& * 102 250,000
Xl 125,000
Al 125,000
NAsASHs N (SENS,XY) 356,000 356,000
Xl 178,000
Al 178,000
201 Yot Y| 37,020 37,020
Xl 18,510
Al 18,510
01 At 22l 8l 37,020 37,020
OXNAsLHELS ALY 37,020
OF= HEHN Ma 2 I3 Jl=ws UM
SIESS 10,000& * 1,500% 15,000
Xl 7,500
Al 7,500
OHF HEH MM L Iz WF JA=E(
UB2Z, 2AI2H) 220,000& = 10Y¥ 2,200
Xl 1,100
Al 1,100
O T4 228 WA
2,500,000& * 43 10,000
Xl 5,000
Al 5,000
O HEHN Hotsl WM M
10,000& * 1508 1,500
Xl 750
Al 750
OFF ZEH MAHT SZNSE USBLIUE
500,000& = 11CH 5,500
Xl 2,750
Al 2,750
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2N
X ZH -
L= B

el

sll=dg Jzs2s

sglls2=2

MIOl=ES At X &

- _ _ RE]
SA BB (SH) - NRAY - B %@i 2t
Al 30,000
Al 30,000
401 Al HIZL 2 0HY| 20,000 20,000
Xl 10,000
Al 10,000
01 Al&H| 20,000 20,000
OXNE=HELALY 20,000
OBF YEY 223 AL 22
20,000,000& * 1JH 2 20,000
Xl 10,000
Al 10,000
402 SI2F 20| & 220,000 220,000
N 110,000
Al 110,000
02 QX2 A E X (0| HTHS) 220,000 220,000
OXNE=sHEHLFAILS 220,000
OBZF UE4 MHSX X4
10,000,000 = 4JH A&~ 40,000
Xl 20,000
Al 20,000
OFF YE# JI2 oZg 25 N
45,000,0008 * 400 A 180,000
Xl 90,000
Al 90,000
=23 2d 12,800 1,000
Jle2202d 12,800 1,000
201 et d| 4,800 0
01 AFR 2t 2| H| 4,800 0
Osgolads 29
100,000 = 401 A = 12€ 4,800
203 & R =&t 1,000 1,000
03 Al ZH =X 2= XIH| 1,000 1,000
(O3 PIESR= B R=E=N| 1,000, 0008 1,000
301 Bt A= 7,000 0
09 SHAIAHI EAZ 7,000 0
Osgolses AP
7,000 * 200 * 50 SHS 7,000
AZEIEIHH LG 279,340 57,406
M) =22 279,340 57,406
201 et 9| 13,040 1,906
01 AP 2t 2| H| 7,540 100
Odol=E 0z SBEA ¥ E88 M
300& * 1,0000H * 33| 900




FA: sgllsdH JIisEsH
A =glI=E=
Ciol M2 (el @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OGAPRIE W= 2 At=E(LBt2g ,2A12})
220,000& * 2A[2F = 30t &H 1,320
OGAPRIZS WU 10,0002 * 3328 3,320
oMzxE ZEEII DI HME
10,0002 * 1002 1,000
oMNzxE ZeEIls NTUXR
500,000& =« 2CH 1,000
02 22224l 2,000 194 1,806
O=g& Jl&U AIE&EH |l
500,000& * 43 2,000
03 &AL Z I 3,500 3,500 0
OS2 MY BN SUHE B
350,000& * 103l 3,500
202 odl 1,600 1,600 0
01 = LH o4 1l 1,600 1,600 0
OJI=E2SAY g2 =&
20,0003 = 5H 16 1,600
301 L2 A S 1,700 1,900 A 200
09 HALAHIEA S 700 700 0
oNEEE ZSEBIIS AT 34U
7,000& = 1009 700
11IIEtEA S 1,000 1,200 A 200
Oddis ZEY 22 2432 500& = 2,000m 1,000
402 RI2EX 20| ™ 263,000 205,300 57,700
01 2IZF 2 A B (REM ) 263,000 205,300 57,700
OLNSE & MAI|e T4 AlY
50,000,000& = 1JHA * 70/100 35,000
O+=E HEN UNSuE MEE X AlY
10,000,000 = 1JHA = 70/100 7,000
OFAO0| & THEHEX =4 AlY
20,000,000& * 10H 4 20,000
OH R=Z0t HIH SHX=L8 AlY
40,000,000& = 1JH A 40,000
OL-d&EZ MAdE H MU= AlY
10,000,000 = 4J8 4 = 70/100 28,000
Ol & MK =& AlY
20,000,000 = 1JHA = 70/100 14,000
OH ZER MHi JIz=232 M8
25,000,000& * 10H A 25,000
O= ZX 02 M Al
40,000,000& = 1JH A 40,000
OYEX2 JI&Mol CHHl ot MA D=2 3 Al
A 7,000,000& * 2042 14,000
OLNSE EF=2== AT AlIEH
20,000,000& * 1JH A 20,000




FA: sgllsdH JIisEsH
A =glI=E=
el HeaAIMAY (sl &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OEXE 012X R2HH == Ag
10,000,000& * 2J0H £ 20,000
FoaFZHA LG 516,685 204,337 312,348
AHESI=ES 516,685 204,337 312,348
101 @124l 6,305 2,487 3,818
M4 IR Z22NSES 6,305 2,487 3,818
CRNEZE 2FZ 2% 2 6,305
oersEy 56,9403 * 256 * 2% » 2& 5,694
OFaRzgh=: 1= 5,694,000& * 3.06% 175
OEIQYEEE 175,000& * 6.55% 12
O30z 5,694,000& = 4.5% 257
ons=sdg 5,694,000& * 1.5% 86
OttHEH 5,694,000& * 1.42% 81
201 £B-2dH| 2,000 1,900 100
01 At 22l 2,000 1,900 100
OJI==2SAtY SEEIs M
10,000& * 1008 1,000
OJI=2SAtY ZSEEIE L=
500,000& =« 2CH 1,000
301 L2 A=z 630 810 A 180
09 &ALAHI B &= 630 810 A 180
OJI==2cSAtY S8 4L 24l
7,000& = 90H 630
307 21201 A 57,000 51,000 6,000
02 IS AHEL 27,000 51,000 A 24,000
Ostsllatey &Y Jl=ns
17,000,000& = 12t& 17,000
Ol SENSSE s d&EII=X&
5,000,000 = 2J43l 10,000
04 DIZHHALALSE E X 30,000 0 30,000
OJ0W=0F &Al & SHAXA
12,500,000& * 3JH&= * 80/100 30,000
402 RI2HX20l 450,750 148,140 302,610
01 212t 2 AL E = (REM ) 450,750 148,140 302,610
OAE 2 €8 RIIIIX g4 AY
25,000,000 = 10024 25,000
OLED Ol 13ZE NUMF THHH AlEYH
25,000,000& = 1JH2A = 70/100 17,500
OAMAJN ADEZ AEJI=23 MY
5,000,000& * 5Jf A 25,000
Ognga LEMA MSATHE Al EH
35,000,000& = 1JH2A = 70/100 24,500




D sgllsdH JisEs

A
EE\::

R o E)
= - 4 14
M- o9 (B H) - MEAY - B2 %Ei HR=2
O=2EXNY AMIHA ==X X4 AlY
27,000,000€ * 10242 = 70/100 189,000
OH|I e AMAEZECX XJ|I&=ot AlY
29,000,000& = 1JHA = 70/100 20,300
ONEZE WY MAS s W EAIME A™
10,000,0009 = 2J0 A = 70/100 14,000
OEL &x=)| s B2 AlY
20,000,000& = 1JHA = 70/100 14,000
OMAZ I SMAIYE 4 AESX =4
40,000,000 = 102 * 70/100 28,000
Ol M22H&ED sHIHH AY
3,300,000& * 100024 = 70/100 23,100
OM==¥ OfMsS= ol 32 AlY
16,500,000 = 1A = 70/100 11,550
ODNEZE Ex=0F MAS et s H2 A"
12,000,000 = 3J)HA = 70/100 25,200
OMASES XNEES MHE AlEY
24,000,000€¢ = 2JH2 = 70/100 33,600
A 235 357,190 112,600 244 590
== 351,600 102,600 249,000
301 LBt A= 3,000 3,000 0
09 HAIAHI BEAZ 3,000 3,000 0
OFAMHEAI2H s ]
30,000 * 2 = 50H 3,000
307 2iz2tol A 7,000 7,000 0
02 QIZFA AAIE E X 7,000 7,000 0
O=JF 2HY ZHOIX MZ AlY
2,000,000€ = 5JHA = 70/100 7,000
0I2t X2 0| & 341,600 92,600 249,000
DI EAMNYE R (RM M) 341,600 92,600 249,000
OICT &2 SAF UK 22 AE
20,000,000 = 1JHA = 70/100 14,000
OY s 6XAIY 24 e Al™
50,000,000 = 1JHA = 70/100 35,000
O3 & =8 Hd2AE MHLANE AY
7,000,0009 * 400 = 70/100 19,600
OFNMNE &2 USAIE MA AlY
30,000,000 = 2J0A = 70/100 42,000
OULEA MM &8O ol ety 2 A"
30,000,000 = 1JHA = 70/100 21,000
OXNEBZS ULE ANSEHS MAMUX 4 AlY
30,000,000 = 2J0A = 70/100 42,000
OsSFAZE N HE s ™A o
Al 20,000,000 « 1JHA = 70/100 14,000




AN sEIIsdE Jls2sH
M sYllsE=2

S AR TWALH CERED

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OWII=E JIEZEY HUES a=23 AlY
30,000,000 = 1JHA = 70/100 21,000
O A THoH OIS AlE 22 AlY
20,000,000 = 3244 = 70/100 42,000
OFEM AIESsI SE M2 M AlY
50,000,000 = 1JH2A = 70/100 35,000
OS5Il B& 1238 JsE2 AlY
5,000,000€ = 5J0A = 70/100 17,500
OFNY Si2S HAF ALNL Al
10,000,0009 * 4002 = 70/100 28,000
OResttE2 E8 - Al X AlYEAS
7,500,000€ * 2J0A = 70/100 10,500
TEtAFZAMAAR2A 5,590 10,000 N4 ,410
201 gBt2Ay| 500 0 500
02 2% H| 500 0 500
OXSAHAZAM2ZA 2 AIEEH S XY
500,000& 500
206 M = dl 5,090 0 5,090
01 T2l 5,090 0 5,090
omsAEMBRLN 29 M=
1345008 * 20% 2,690
oBIZMBN 2Y 28 7Y
1,200& = 2,000L 2,400
ESNEZHMAUSG 557,450 506, 150 51,300
ERXME)sE2a 305,000 187,200 117,800
402 SI2F 20| & 305,000 187,200 117,800
01 It E AL EXR (M) 305,000 187,200 117,800
oOuxsa=S & AIETHE AlH
15,000,000& * 2J0A = 70/100 21,000
OoHicls FAA U HASHIMAE AlY
40,000,000& = 1JHA * 70/100 28,000
OHA ADJI=E3 AKX A5 AY
30,000,000& * 102 30,000
OELD XOEH L SSHHH XA A AIE™H
25,000,000€¢ = 2JH2 = 70/100 35,000
ONEZE S20F CHEMA Al H
20,000,000€¢ = 1JH2 = 70/100 14,000
OFAOIE 2B HEZEH AlEY
20,000,000€¢ = 1JH2 = 80/100 16,000
OXNEBNEZE 0|2 U I3 AlY
15,000,000& * 2J0A = 70/100 21,000
OLHIHOHS Cla& GHIIAHAIAE AlY
30,000,000€¢ = 1JH2 = 70/100 21,000
OHlel®s =& & 22| Iz & AY
40,000,000& * 1JHA + 70/100 28,000
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M sgllsE=

o9l SENSAYABG CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Oflcls JHEA 201 HIotE Mol A"
20,000,000& = 294 = 70/100 28,000
Oy Xsst MH2E EXNES AY
20,000,000 = 294 = 70/100 28,000
O=U=sE HAMUSZE Mdl=E2=2 Al
50,000,000& = 1JHA * 70/100 35,000
SEAMS SOHYE AL 12,450 12,450 0
206 M = Hl 3,000 3,000 0
01 =8l 3,000 3,000 0
OFHEE =ELUS S0tE HAME 3,000
odgEl +¢ 100,000& * 208 2,000
odg 223 7Y 50,000& * 203 1,000
301 gEtE L= 2,450 2,450 0
09 HAAHIEA S 2,450 2,450 0
OSHESE =sSAE sty AL 24X =4
i 7,000& * 70Y = 5 2,450
305 a2 S 4,000 3,000 1,000
01 tH& =SS 4,000 3,000 1,000
OFTHEE SSLS 0tY A s3s82
=B N 200,000& » 200 Z= 4,000
401 Al Bl 28I 3,000 4,000 21,000
04 A2t Al &I 3,000 4,000 A 1,000
OFTHEEE SSELS &0LE A A& 3,000
Os=2ste, dA2 3,000,000& 3,000
NAEdst Avg 240,000 306,500 266,500
402 RI2HXt20l 240,000 306,500 266,500
01 212t 2 AL E = (REMTH ) 240,000 306,500 266,500
OZTAI2W HEHUsAZS MAAYE(EO)
10,000,000 = 2J8 4 = 70/100 14,000
OEMAEBS 2458 THHE A (S )
5,000,000& = 1JHA * 70/100 3,500
OADIEDD| &2 2&d HEsYH ANg(8%)
5,000,000& = 3JHA * 70/100 10,500
OMHM A HESME HEIHAMNS AR (LH=)
20,000,000& = 1JH4 = 70/100 14,000
OZX RAESH JIAHS AE(LE)
20,000,000% * 1202 * 70/100 14,000
Oz HPHMAML MM AlE(S0l)
30,000,000& * 1JH 2 30,000
ORI BRI} HFINMA AH(22ES)
25,000,000& = 14 = 70/100 17,500




N sIIsdH JisE22H
X'IiH: ‘—O-ljl%?_g
el Sz LE (Sl & &)

= =

SA - B (A) - NTAY - BES 0l &t o4

=

M
2Hm
==
£l
Ol
0y

OJIA0IHN E 201X AF A AH(EH)
20,000,000& = 1JHA = 70/100 14,000

OS4MA ISR Mo JIBES AH(0)

25,000,000& * 1JHZ * 70/100 17,500
OdAS Ol ZE2THHE AIE (OtH)

20,000,000& = 1JHA = 70/100 14,000
OMHIE &8 TIISE M AH(EY)

25,000,000& * 1JHZ * 70/100 17,500

OO0z MelHAXS A (29)
20,000,000 * 1JHA = 70/100 14,000

OEHZZE LUMEXAXL AY(2E)

F

20,000,000 * 1JH2 = 70/100 14,000
OUER HAHF A4E4H 4 AIH(ZU)
20,000,000 = 1JHA = 70/100 14,000
ORI ANEEIRA sH2AL| AY(S4H)
20,000,000 * 1944 = 70/100 14,000
OANERA FALY ZIIEG AME(ZA)
12,500,000 = 2)4 A * 70/100 17,500
NMIlsstMdIs23 579,200 519,580 59,620
< 173,760
Al 405,440
MIIE2SAtY it 579,200 519,580 59,620
< 173,760
Al 405,440
307 ©I2t0| & 117,000 129,000 A 12,000
< 35,100
Al 81,900
02 DIZHH A ALY E X 117,000 129,000 A 12,000
OsX2 gz 23 ¢H
117,000,000 * 104 A 117,000
< 35,100
Al 81,900
402 D12t X201 & 462,200 390,580 71,620
[ 138,660
Al 323,540
02 QIR AL E X (0l X TH ) 462,200 0 462,200
OEZ 28 H MHIIE 23 AlY
30,000,000 = 1JH4 = 70/100 21,000
< 6,300
Al 14,700
OO0l 6XHA B AlYY
50,000,000 = 1JHA = 70/100 35,000
< 10,500
Al 24,500

©1NF0t E+E06t X MEI= AlY

35,000,000 * 1JHA = 70/100 24,500
7,350
Al 17,150

H




AR

3 sgl

Alls=dy D221

A
EE\::

SRl MIls=tedls

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
PEE LR EEEEERE
40,000,000& = 2JHA * 70/100 56,000
= 16,800
Al 39,200
OME&I ANEJu D33 Al
25,000,000& = 14 = 70/100 17,500
< 5,250
Al 12,250
OF= 1= BIE3s =X IS MU A E
30,000,000& = 1JH4 = 70/100 21,000
< 6,300
Al 14,700
OANHESISA ADNE E#EHA /\|tH
15,000,000 * 1JHZ * 70/100 10,500
< 3,150
Al 7,350
Og2M7 SEEL AHY
5,000,000& = 1JHA * 70/ 10,500
< 3,150
Al 7,350
QOlMIIZ= e SXLNF CHEMA AlY
10,000,000& = 1JHA = 70/100 7,000
< 2,100
Al 4,900
OLNEZE 33l Moz AlY
10,000,000& = 1JHA = 70/100 7,000
< 2,100
Al 4,900
O+=£& 33 ¢y =4
50,000,000& = 1JHA * 70/100 35,000
< 10,500
Al 24,500
Oz e MAMCT S AlY
50,000,000& = 1JH2A * 70/100 35,000
< 10,500
Al 24,500
OJIZFHSUHE dASE &2 Y sS4
30,000,000% * 1JHZ * 70/ 21,000
< 6,300
Al 14,700
OAtLt RI1ILX eah AlE
20,000,000% * 1JHZ * 70/ 14,000
< 4,200
Al 9,800
Ol Rolls= LoHEZ Al
2,000,000& * 1002 2,000
< 600
Al 1,400
OXAx ARSEW BHM=98 & AME
20,000,000& * 1JH A * 70/ 14,000
< 4,200
Al 9,800




SA: SIS D22

T . A
M sgllsE=

SRl MIls=tt)IsES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OICT 28 SA OIWUX Z2Z AlE
20,000,000 * 1JHZ * 70/100 14,000
= 4,200
Al 9,800
Oz &d FaZ Mo SHT KA AlE
20,000,000 * 1JHZ * 70/100 14,000
< 4,200
Al 9,800
OBBasA0l EEHLY £W AlY
1,300,000& * 400 2 5,200
< 1,560
Al 3,640
OO0l&JI= HH Z=datd o AlY
20,000,000%& * 1JHZ * 70/100 14,000
< 4,200
Al 9,800
OTHGHOIE Cla AIZIHS AlY
20,000,000% * 1JHZ * 70/100 14,000
< 4,200
Al 9,800
OJI=HIHE Ch=== HA THHY AlY
50,000,000& * 1JH2 = 70/100 35,000
< 10,500
Al 24,500
OIISH ASHA HFML Al
50,000,000& * 1JHz = 70/100 35,000
< 10,500
Al 24,500
HH2A A 54,921 65,963 A 11,042
Jl= &l 54,921 65,963 A 11,042
JlE&l 54,921 65,963 A 11,042
201 Let249H] 16,361 19,383 A 3,022
01 At 22l 16,064 17,068 A 1,004
OJl2g=e+d #sZ2H(01=24l)
8,000,000 8,000
o=gd(JI&EZHl) 8,064,000& 8,064
02 2324l 297 2,315 A2,018
ORER=S 2703 = 1,100 297
202 44l 33,120 34,200 A 1,080
01 = LH 4 b 4,320 5,400 A 1,080
OJI&Z 4,320,000 4,320
02 M0 28,800 28,800 0
O HOHI 200,000& = 1298 « 128 28,800
203 YR =& 4,840 4,880 A 40
02 Ity =& 640 680 A40
OPJE=E: 40,0004 = 169 640




2N sYIEHE JE23
ol HY2 YA

Sl =B (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
04 EAN2I LRI 4,200 4,200 0
©J|Z % (302! 0I3dt) 350,000 * 123 4,200
405 TtabF S| 600 7,500 A 6,900
01 AL EFFH S 600 7,500 26,900

OBW(AEEHII) 150,000& = 4CH 600




N = 0l & At & Ml A

AN sEIIsdE AFHED
I AFME

Sl HPHT IR Y (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sYJIsdH A2 12,232,207 2,230,473 10,001,734
=2 5,089,500
Xl 25,000
= 1,503,300
Al 5,614,407
Ao 12,076,395 2,010,399 10,065,996
= 5,089,500
Xl 25,000
< 1,503,300
Al 5,458,595
A= d 16,934 17,722 AT788
SN EARE 16,934 17,722 A788
201 YEt2 Ayl 7,134 6,972 162
01 At 22l 6,000 6,000 0
OsgolagAaA2dl
100,000& » 54 « 12& 6,000
02 2324l 1,134 972 162
OZ=sZEXN &5 RERS
2703 = 3508 = 123 1,134
301 Lpte &3 9,800 9,800 0
09 HALAHIEA S 9,800 9,800 0
O=sgolaegdaiz2y a2
7,000& * 200 * 70 SHS 9,800
SHHAFNL 10,326,774 740,742 9,586,032
= 4,800,000
= 1,440,000
Al 4,086,774
sg A2t 326,671 340,436 A 13,765
101 124 dl 48,289 45,417 2,872
04 JIZHHZ2XREE S 48,289 45,417 2,872
OXNYdsYiHeEasE 2 URY 31,197
OHAIZE 22X (ES2E)
57,990& = 2¥ » 100 11,598
OHAIZE 22X (I=2R)
62,660 * 2% * 20 2,507
OJIZtHZ 2 X 15,478
- o2y 57,990& = 1¥ » 269 * 103 15,078
- BEFItd| 200,000& = 1H « 23| 400
OHLEE= 15,078,000& * 3.06% 462
OFJIIRAEE= 462,000& = 6.55% 31
O=8d3 15,078,000& * 4.5% 679
CnE:LH 15,078,000& * 1.50% 227
OMTHEH 15,078,000& * 1.42% 215




SH SYIEHE AR
HE: o pope

Sl SejeiTope (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Otl=sg A7 FHoteA 23 JI2H 22 17,092
ooy 57,9903 = 1% = 262 » 103 15,078
OZZE sItdl 200,000& = 1H « 23| 400
OFaRzg-h= 1= 15,078,000& * 3.06% 462
OFILEER 462,000& * 6.55% 31
Oo=38a3 15,078,000& * 4.50% 679
OneE:sd 15,078,000& * 1.50% 227
Ot EE 15,078,000& * 1.42% 215
201 et 45,862 53,799 AT,937
01 AP 2teltl 12,920 18,620 25,700
Odl=g HAFAAE JEtZd Xz
550,000& * 10CH 5,500
ObtsgH HEOIRA A2 BEME
30,000& = 1004 3,000
OsYAEAL 22 O=Hl 1,120
o= 60,0003 = 4% =« 23| 480
Oz st 60,000& = 4H « 13| 240
ogst=s 100,000 » 4% « 13| 400
O=sEANEATRAY E2H  30,000& = 1004 3,000
OAEAHTAIY SEEHIS AIR22ltl
3,000& = 1009H 300
02 3323l 32,942 35,179 AN2,237
OHEAN HUGSA IR SR (Ly
g) 14,907
OJdlez 1,210& = 57Kw » 128 828
OHdIIMNEZ 41,93 * 28,000Kw » 12& 14,079
Otl=sg A7 HEGISA HEHAZH| 11,170
Oo&dx 1,117& = 10,000L 11,170
Otl=g A7 HHotRA 3 BEE8=
1,000,000 = 13l 1,000
Obt=sg A7 HHotRA AIE&EH |
500,000& * 10& 5,000
OXNYsYHLASE FH KFH 865
O gs= 1,363& * 200L 273
OZ= 1, 1172 * 400L 447
OeR 7223 x 200L 145
202 oddl 960 960 0
01 = LH o4 1l 960 960 0
ogRae HRFA 20,0003 = 3H » 16¢ 960
203 R =AYl 1,000 0 1,000
03 Al =X A2 =X 1,000 0 1,000
O=sgANY g2 1,000, 000& 1,000




AN sEIIsdE AFHED
I AFME

Sl YA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 55,000 57,000 A 2,000
01 M= 4l 55,000 57,000 A 2,000
OXNT=sHNE ASE 2EME
200,000& * 508 10,000
OZXJAATIMLAY AIBME
400,000& = 50& 20,000
Otlsg A7 FHoteA HaHI
1,000,000& * 25& 25,000
301 gt d= 560 1,260 A700
09 SALAHIEA S 560 1,260 AT700
OANSHTAY S SAEY
7,000& = 80H 560
401 AIEHIZL 20HEI 100,000 110,000 210,000
01 A& Hl 100,000 110,000 A 10,000
oSt s AL DIt HE  60,000,000& = 14 60,000
O&IRA BE2AIE &X
40,000,000& * 14 40,000
402 RI2EX=20l A 72,000 72,000 0
01 U2 EALEX (M) 72,000 72,000 0
O=sg 8¢ T AIEAY
30,000,000% * 2JHZ * 70/100 42,000
OMASHEINY ASAE
15,000,000& * 1JH 2 15,000
CEEF-EER FNENE-
15,000,000& * 1JH 2 15,000
405 XHoHF S HI 3,000 0 3,000
01 AL EZFH S 3,000 0 3,000
OAFML Y APRA HI| 2 (99m = 1t)
3,000,000& =« 1CH 3,000
=E0ME Mo B 250,593 254,824 A4,231
101 14 Hl 61,229 57,164 4,065
04 JIZHHZ2Z2XNHEE S 61,229 57,164 4,065
ORE0MEE dat2g AR Y 61,229
Oy 51,8003 = 4% « 26 » 103 53,872
OZFE FItHI 200,000& = 4Y « 23] 1,600
OHLEE= 53,872,000& * 3.06% 1,649
OFIIRYEE= 1,649,000& * 6.55% 109
O=8d=z 53,872,000& * 4.50% 2,425
OCnE:Ed 53,872,000& * 1.50% 809
OdTHEH 53,872,000& * 1.42% 765
201 et 38,514 49,660 A 11,146
01 At 22l 12,450 44,660 232,210




2N
el

el

X ZH
S =

SYIl=dg AR

SN

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORESONMES M EF 2,250
OWM & 82 MA 400,000& = 2& 800
Oblds ZAzA 35,000&  20& 700
Olld=s4d HHS 90,000& = 5H 450
Obldsa otd 3t 60,000& * 549 300
O3 FAEAH 500,000& = 63l 3,000
oNdE B3R 2L FHIIEAHI
400,000& = 33 1,200
ORSOIME I HIIZ2H|
1,000,000& =* 43| 4,000
ORE0IMEY 2 AIR22lt]
500,000& = 43| 2,000
02 =24l 26,064 5,000 21,064
O&EHIRA 2=l 1,400,000& = 102l 14,000
ORESNMSHULA RFHI
1,117& = 9002/ H = 123l 12,064
206 M= Hl 148,350 148,000 350
01 M= 4l 148,350 148,000 350
SE0ME HXMZE MHZH
400& * 300,0002! & 120,000
ORES0IM2 M4 JIE MHE
90,000& = 458 « 73] 28,350
405 TtabH S| 2,500 0 2,500
01 AL EZFH S 2,500 0 2,500
ORES0IME Ma 0lsA HSI 72
,500,000& = 1CH 2,500
RIS SBMUANAST £ 9,600,000 0 9,600,000
= 4,800,000
< 1,440,000
Al 3,360,000
403 UHXSHHSA=0l& 9,600,000 0 9,600,000
= 4,800,000
< 1,440,000
Al 3,360,000
02 I 2S0ICHet A == 0H & At H 9,600,000 0 9,600,000
ORI sMLESHEIAX SR =4 A
=l 9,600,000,000& * 1JH 4 9,600,000
= 4,800,000
< 1,440,000
Al 3,360,000
DlMsE Mo B3(44) 149,510 145,482 4,028
101 @14 dl 30,617 28,582 2,035
04 JIZHZ2Z2XNHESE S+ 30,617 28,582 2,035
OlIME MASZ 2 30,617




AN sEIIsdE AFHED
I AFME

Sl SejeiTope (sl &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
oogy 51,8008 » 2% x 262 * 108 26,936
OY ZE =t 200,000 * 2™ = 23| 800
OAdEE=Z 26,936,000& * 3.06% 825
O&ILEE S 825,000& * 6.55% 55
O=01H= 26,936,000& * 4.50% 1,213
ongEegs 26,936,000& * 1.50% 405
OMMES 26,936,000& * 1.42% 383
201 et A bl 41,293 21,700 19,593
01 At 22l ] 17,300 6,700 10,600
ONEIIMZ LA SH AtR22|b]
500,000 = 43| 2,000
ONEOIMZ BHI| HIIEHHYI
1,000,000& * 43| 4,000
ONEIMEA A= 90,000& = 29 180
OLNHEIMEA otMF 60,000 * 2™ 120
ODNEIME Z&EX M 11,000
O ZEX 800& * 10,000& 8,000
O s &M 2| 3,000,000& * 1JH 3,000
02 332494l 23,993 15,000 8,993
O&FHI S X 2=t 1,500,000& * 43| 6,000
ONYDMBHAELE 2 MIIMES 17,993
OJlsAsz(vge)
8,320& * 80kw » 12& 7,988
O&IINEZ 119.10& * 7,000kw * 12& 10,005
206 M = Hl 76,000 70,000 6,000
01 XHZ Hl 76,000 70,000 6,000
O0ME HILA 29 M2 IY(DEHIMS)
3,000& =* 1kg * 12,000kg 36,000
O0ME HIYZA 29 ME Y (HADMES &
2) 50,000& = 402l = 203 40,000
405 XH&HF S HI 1,600 12,000 A 10,400
01 JHMY 2 EF S HI 1,600 12,000 A 10,400
OLNEHIMEMA 2K SHFEHO0E
1,100,000& = 1CH 1,100
ODNE0IMSMA MM S (5kg)
500,000& * 1CH 500
Helgsd N 1,018,977 430,912 588,065
= 252,000
& 15,000
Al 751,977
st s AU A2S 281,622 368,911 A B7,289
101 21 21d| 75,037 99,459 N24,422
04 JIZtHIZ22XNSE S 75,037 99,459 N24 422




AN sEIIsdE AFHED
I AFME

el galga e (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OELHYE L ANESMHF o2 51,267
ool 57,990& * 3Y * 262 * 10 45,233
OY& Syl 200,000 = 3Y = 23| 1,200
OHZEE = 45,233,000& * 3.06% 1,385
OIUYESE=2 1,385,000 * 6.55% 91
O=01Hz 45,233,000 * 4.50% 2,036
Onsed 45,233,000 * 1.50% 679
ONMEE 45,233,000 * 1.42% 643
OMHEA ASHF L SEHE 2R 17,092
OJIZtH 22X o158
57,990& * 1Y = 262 * 10 15,078
OALEEE 15,078,000& * 3.06% 462
OIILYEEZ 462,000 * 6.55% 31
O=01H= 15,078,000& * 4.50% 679
onEes 15,078,000& * 1.50% 227
OMMES 15,078,000& * 1.42% 215
OYZE SItHl 200,000& * 1Y€ = 23| 400
oY L MoHIEZEN ELHE L AMS2IUF 2
£ 6,678
OJIZH 22X 218
57,990& = 1Y = 262 ~ 401 & 6,031
OA&dEE 6,031,000& * 3.06% 185
OIAEE 185,000& * 6.55% 13
O=01H= 6,031,000& * 4.50% 272
onggs 6,031,000& * 1.50% 91
OMMES 6,031,000& * 1.42% 86
201 Yet2 2t 33,685 51,112 A17,427
01 At 22l ] 17,200 23,360 A6, 160
OEYHAHA HHEK-H 550,000 = 14& 7,700
OEAHIA HASY Helbl
300,000& * 103 3,000
oO/ZT A2 A HEX L] 550,000& * 2& 1,100
OUSHASAY 22X ExHLZHX
100,000& + 58 « 13| 500
oOXHgEA=H 1,000,000& = 13 1,000
OEYHI2IE ArR22lt] 100,000& = 208 2,000
OEYHIA &S 90,000& * 6H 540
OELAHATA HHF 60,000& * 6YH 360
OMZTAAZA 2 AR22IH]
100,000& * 10 1,000
02 352494l 16,485 27,752 N 11,267
OEYHIA EHUI KX 350,000 = 20 7,000
oO/F A 2| A AU KA 300,000& * 20 6,000




AN sEIIsdE AFHED
I AFME

& gelgs X (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
oOddls SeXHA HHI KX H|
200,000 = 5= 1,000
OELHIAIH HEAN RT3
2704 * 5 50021 1,485
ozBII2E2d UK 200,000 = 5= 1,000
206 M = dl 47,000 87,020 AN 40,020
01 X2 bl 47,000 87,020 A 40,020
OELXHZAY 23 ME 300,0008 = 30= 9,000
OMEXZCA 2H M= 800,0008 = 40= 32,000
OBHESHISA 2 WE
150,000 * 20= 3,000
OZIIZ2 2 ME 100,000& * 30= 3,000
401 Al H|IZ 2 0HY| 10,000 20,000 A 10,000
01 Al&H| 10,000 20,000 A 10,000
OELYHZA AISEEHIMNM
10,000,000 = 14! 10,000
402 SI2tXHE0| & 94,000 85,200 8,800
01 S22 AN EXR (M) 94,000 85,200 8,800
OAMEB2EANE 423 Jl=s= ASAE
25,000,000€ * 200 A 50,000
OsMHsSH 0l HetEE D33 ASAE
15,000,000 * 1JH A 15,000
O25012 JIIBMIENY ASAE
30,000,000 = 1JHZA = 80/100 24,000
OXZHIY D0 =TEZE ASAE
;000,000 * 1o 5,000
405 KHoHFE S HI 21,900 25,000 A 3,100
01 XA 2B F S| 21,900 25,000 A 3,100
OWUYI (JHIBASSAZA AFA, gon
0lat) 2,000,000 = 1CH 2,000
OXAB 22| ZEH(ELZHEA)
1,400,000 = 1CH 1,400
OFLIN(ELAFTA) 3,500,000& = 1CH 3,500
OKHIASSE X 7,500,000 = 2CH 15,000
SegEAA2IENE 214,000 0 214,000
= 107,000
Al 107,000
101 2121 H] 30,842 0 30,842
= 15,421
Al 15,421
04 JI2ZtHIZ22NEE S 30,842 0 30,842
OELHE 2 A2MWF o2 30,842
OJ|2tH el el
57,9903 * 29 * 262 x 98 27,140




2N
el

el

X ZH
S =

SYIl=dg AR

gelgd X

SN EE - (SN) - HRAY - BHAS il Hl D = 2t

= T3.570
Al 13,570
OY & SOty 200,000& = 29 800
= 400
Al 400
OHZEd= 27,140,000& 831
2 415
Al 416
OEIQYEEE 831,000& 55
2 28
Al 27
O30z 27,140,000& 1,222
= 611
Al 611
onssg 27,140,000 408
= 204
Al 204
OMTHEE 27,140,000 386
2 193
Al 193

201 B2l 758 758
2 379
Al 379

02 3323l 758 758
OELZF4A ZH KXl 189,500 * 43 758
2 379
Al 379

202 04 Hl 2,400 2,400
2 1,200
Al 1,200

01 =2LHAOYI 2,400 2,400
OEYAZ MFH HHl 20,0008 » 3¥ * 40 2,400
= 1,200
Al 1,200

206 T 24 7,000 7,000
= 3,500
Al 3,500

01 =8l 7,000 7,000
oxEZdacad 2% M=Hl 100,000& » 703 7,000
= 3,500
Al 3,500

405 AH&HF SHI 173,000 173,000
= 86,500
Al 86,500

01 XL 2 EFH SHI 173,000 173,000

O/ZHACY A2 YWED

2,000,000& = 104 2,000




2N
X ZH -
L= B

el

SYIl=dg AR
A ON Y
gelgd X

SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
= 1,000
Al 1,000
OMEAZLA AlZS M|
24,000,000 = 1CH 24,000
= 12,000
Al 12,000
OXN=sSHIGSEI 50,000,000& * 1CH 50,000
= 25,000
Al 25,000
oxEA 2 A AHAXD| 2,000,000& = 1CH 2,000
= 1,000
Al 1,000
oREIBA TE BYA
2,500,000& = 2CH 5,000
= 2,500
Al 2,500
OWEBIBRIM HHESL))
90,000,000 = 1CH 90,000
= 45,000
Al 45,000
2FAY M 25 15,000 0 15,000
= 15,000
201 B9 11,950 0 11,950
== 11,950
01 AP 22| H| 11,950 0 11,950
O0leiatY 2=01210I0] s ZAIEE 9,450
OJledAz(13)
230,000& * 1Al2F » 27H 6,210
& 6,210
O=x=1 120,000 = 1Al2F = 27X 3,240
== 3,240
O0leidty 2=01210HI0l REXE X2
500,000& * 53| 2,500
= 2,500
206 M = dl 1,930 0 1,930
= 1,930
01 X Z Hl 1,930 0 1,930
O0leidY 2=01210I0] s ASME
16,080& * 40Y = 33| 1,930
& 1,930
301 et A= 1,120 0 1,120
o 1,120
09 HAIAHI B A Z 1,120 0 1,120
O0lehatY 20121001 8 SAH|
7,000& * 409 = 43| 1,120
== 1,120
sSSHAD|IsAY 290,000 30,000 260,000
= 145,000




2N
X ZH -
L= B

el

SYIl=dg AR
A ON Y
gelgd X

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 145,000
402 QI2F X2 0| & 290,000 290,000
= 145,000
Al 145,000
02 BIZIXIEANYE X (OIETHH) 290,000 290,000
OSHSH ARS % 2HE SHI5 J2 A
260,000,000& = 10 A 260,000
= 130,000
Al 130,000
o2z € JsdANME 28 nEE &
S 202 MALAIE30,000,000& * 100 A 30,000
= 15,000
Al 15,000
st sAE2Y 218,355 218,355
101 2124 | 98,458 98,458
04 JIZtHI22XNSE S 98,458 98,458
ONF0} PEIHHY L 4 o2 68,289
OJI2ZtH 22X 218
57,990 * 4% x 262 * 102 60,310
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